A & ol & AFSE H Al A
58S =04 22201012
& 200 M2l
2 200 FARHLI%Y
& 216 0/ X+l (crel:&e)
op-g-2 o & o rSJEL= IR HimEET
ES Al 10,829,638 10,590,074 239,564
200 Helagl 9,000 9,000 0
210 S&HAI2l = 7,000 7,000 0
216 0l X2 7,000 7,000 0
216-01 33001 At==¢ 7,000 7,000 0
<SXNEEHL > 7,000 7,000 0
OZZ0I2 01X+ 7,000,002 7,000
220 AAIF A2l 10,000 10,000 0
224 J|Et==¢ 10,000 10,000 0
22407 12|+ 10,000 10,000 0
<SNEHL > 10,000 10,000 0
SEEEIE-IGIEL] 10,000, 0002 10,000
230 XYM - Rit= 75,000 75,000 0
23 23z 75,000 75,000 0
235-01 OIS === 75,000 75,000 0
<SXNEHL > 75,000 75,000 0
O2zs0 RE0IS= 75,000,000 75,000
500 22 1,568,224 1,240,330 347,84
510 | LExX3S 1,351,680 1,085,600 296,080
511 2NEX3S 1,351,680 1,085,600 296,080
51101 =1EX=S 1,351,680 1,085,600 296,080
<SXNEEHL > 1,351,680 1,055,600 296,080
SEEEIIN=IE-T] 28,800, 0002 28,800
OMIt 2250 A 78,400,000 78,400
SEEEVEEV I LSS k! 1,244,480,0002! 1,244,480
520 Al - SHIEXES 236,544 184,730 51,814
521 Al - GHIRE2E 236,504 184,730 51,814
521-01 Al - SHIBXZS 236,544 184,730 51,814
< SXNEE > 236,544 184,730 51,814
Oo2=0AIE dEY| 5,040,000& 5,040
OMIt 2220 At 13,720,000& 13,720
SEEEVEEV I LSS 217,784,0002! 217,784
700 EM-USHUEHH 9,149,414 9,257,744 A 108,330
720 LHSO1eH 9,149,414 9,257,744 A 108,330
721 83 9,149,414 9,257,744 A 108,330
721-03 JIEFSIHN L S 9,149,414 9,257,744 A 108,330
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H & 0l & AHS B Ml A

A SXNEH
Mo 20| EMBEY
ol MASE 230 (ARZ0012) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXE M 9,247,138 9,314,374 N67,236
= 87,280
== 16,274
Al 9,144,584
EP SRS - b S 9,247,138 9,314,374 N67,236
= 87,280
== 16,274
Al 9,144,584
NASE cz2z0(dEes0013) 9,247,138 9,314,374 167,236
= 87,280
== 16,274
Al 9,144,584
o230 (#EHI) 11,100 13,000 1,900
= 8,880
= 1,554
Al 666
201 fer= 3| 10,600 12,500 1,900
= 8,480
= 1,484
Al 636
01 AtR2t2|HI 10,600 10,500 100
O=s0AIE =224l 10,600,000 10,600
= 8,480
= 1,484
Al 636
301 eEtE N = 500 500 0
= 400
= 70
Al 30
14 IIEt2 83 500 500 0
Ofg20 F3FF MUBd=
500,000 500
= 400
= 70
Al 30
220 NZRES(IEERL) 9,046,038 9,176,574 /130,536
308 AHXIEMSOIH 9,046,038 9,176,574 /130,536
07 HXHH2LREES 9,046,038 9,176,574 130,536
Oflzgl=gi el & AZdE= |
9,030,546,000& 9,030,546
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15,492,000& 15,492
S 20 (It =220 AlL) 98,000 32,800 65,200
= 78,400
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SIE=20SEH odlbl 92,000 92,000 0
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01 8HolbIgl 92,000 92,000
O2zz0II=SE2 A ol
92,000,000 92,000
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207 Atel= X112

M 20| ZMELE(A0)
tel: MASS A230 (A0 (AE2=20213) (e
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
Al 28,179
OFOeIEXRDD| =223 XA
241,946,000& 241,946
= 193,556
& 33,872
Al 14,518
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Al A

Col: HASZE QAZZ0(AAN(ABS0II2) (o9 =)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
EAYN SN =1 E==YNI); 497,591 361,024 136,567
= 398,073
T 69,663
Al 29,855
IOUI | ZME S E (LA 497,591 361,024 136,567
= 398,073
= 69,663
Al 29,855
HASSE 230 (AN (E220012) 497,591 361,024 136,567
= 398,073
& 69,663
Al 29,855
OSSO (EHEHI) (AL 7,114 6,714 400
= 5,691
T 9%
Al 427
202 044 7,114 6,714 400
= 5,691
& 9%
Al 427
01 =LHO4b]| 7,114 6,714 400
O2IZSOIBEIAL SS+8 SO
7,114,000 7,114
= 5,691
& 9%
Al 427
SZ20(2REZ S)(&AH 490,477 247,560 242,917
= 392,382
& 68,667
Al 29,428
301 LPENZ 490,477 247,560 242,917
= 392,382
= 68,667
Al 29,428
01 A2 & X Z2(2REETA) 490,477 247,560 242 917
O2I230i4+3X 2R3 X2
383,727,000& 383,727
= 306,982
= 53,722
Al 23,023
OFOHIEXRD|D| 2R a XA
106,750,000& 106,750
= 85,400
= 14,945
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Al A
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SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
QE Atz =X 360,629 306,954 53,675
= 288,503
T 50,488
Al 21,638
FUD|ZMEEH(LY) 360,629 306,954 53,675
= 288,503
= 50,483
Al 21,638
HASSE A230(2E)(E220012) 360,629 306,954 53,675
= 288,503
& 50,488
Al 21,638
OSSO (HEHI)(L2H) 7,114 6,714 400
= 5,691
T 9%
Al 427
202 044 7,114 6,714 400
= 5,691
& 9%
Al 427
01 =LHO4b]| 7,114 6,714 400
O2IZSOIBEIAL SS+8 SO
7,114,000 7,114
= 5,691
& 9%
Al 427
o230 (2oIRE3 S)(LY) 353,515 206,300 147,215
= 282,812
& 49,492
Al 21,211
301 LPENZ 353,515 206,300 147,215
= 282,812
= 49,49
Al 21,211
01 A2 & X Z2(2REETA) 353,515 206,300 147,215
O2I230i4+3X 2R3 X2
247 ,460,000& 247,460
= 197,968
= 34,644
Al 14,848
OFOHIEXRD|D| 2R a XA
106,055,000& 106,055
= 84,844
= 14,848
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